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Relational algebra Queries:

7.18 a)

t1(ssn, pno) = Tessnpno(Thours>10(works_on))(ssn, pno)

2 (pno) = T pnumber (Upname:”PRODUCTX” (p?”Oj(ZCt)) (pno)
result(fname, Iname) = T tpame iname (€mployee 1 t1 1 £2)

7.18 b) T tname,iname(€mployee X Tessn dependent_name (dependent)(ssn, fname))

7.18 €) T name,iname(employee A g, ( (employee) (superssn))

( Ufname:”Franklin” and Iname="Wong”
7.18 €) Tname,iname(employee X (Tessp pno(works_on)(ssn, pno)+mppumper (project) (pno)))
7.18 ) T tname iname(€mployee < (755, (employee) — Tessp(works_on)(ssn)))

7.18 i)

tl(SSTL) = Tlessn (U]OTICS_OTL > 71-pnumber(O-plocation:”Houston” (project)) (pno)) (SSTL)
t2(5SN) = Tssn.dno(employee) > (Tanumper (department)—

T dnumber (Udlocation:”Houston” (depm“tm@nt) )) (an))
result(fname, Iname) = T rpame iname (€mployee > (t1 N £2))

7.18 j) T iname,iname(€mployee D (T grssn(department)(ssn)—messn (dependent)(ssn)))
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